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: 2 Q=1 b=-TC=4
‘- @"’F) - 2°(F 2. Ifaandp are roots of the equation x¥* -x+1
Y ) - =0, then write the value of a? + (32
- (a)' aQ afd_ o 91 B AHHUT 2 -x+1=0 % g &
) (-J-)22.‘L mrmmafrﬁim
= -2X
] (a) 1 -1
= - (c) O (d) None of these
R
Q (4B)" = o R 0up

) K12 2X'1p™
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%— "' :i 3. If the equation 2x* - 7x + 12 = 0 has two

dq a=2 b=-1 C=12
= _(Oﬁ_ﬁ)jﬂ?iﬁ_ rootsd&ﬁ, then the value o
:_g_)"_?,x% qfd o q9T B FHEHIOT 2x% - Tx + 12 =0 & A
l{? E:fa’rtrﬁsrmérﬁrm
S Y9
L. gy o7 -

y 4
-j? :@ \(}’/la (d) 54
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.—‘2_ Kx+427=0 4. One root of quadratic equation x* - kx +
0 27 =0 is 3, then find the value of 'k'.
S (3)-kx3+27=0 fgama wdteRToT %2 - kx + 27 = 0 &1 U& g3 1,
d Q-3K+29=0 af k @1 WA ATA w0
2 |'z (a) 10 12

/5/ j" IC (c) -12 (d) 16
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Find the value of k if one root of the

equation: s twice the other

root.
k &1 9% U9 FTa &itag fawe fog adfietor a2
-9x + k=07 U& Yol &l °IH SHT gaA & &l

T "t g
\(#f 18 (b) 16
(c) 12 (d) 9
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ot = L3
-b - C
/Cl/
3 =(2k#)= -R-5
<) -2k- [=-R-S
:)

Find the value of k so that the sum of the
roots of equation 3x* + (2k+ 1) x-k-S =
O is equal to the product of the roots :

k &1 9% UWH FT9 airau fage fao wdteron

3x2+ (2k+ 1) x-k-5=0 & Hell &1 ATHA

39 MUTAHE & aiat ail
- (b) 4
(c) 2 (d) 8
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0""@'-'- i oAf=-20 7. If sum of the roots of a quadratic equation
is 1 and product of the roots is(-20) find
2 -
A - (d'l'P)'x +f=0 the quadratic equations

afe fgama wfretor & geit &1 4@ 1 § 34T get
Ca -20 %\ fguma wdreTor FATa wifawl
(M x*-x-20=0 (b) x*+x + =0

(c) x*+x-20=0(d) x*-x + =0
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If sum of the roots of a quadratic equation
is 1 and product of the roots is -20. find

the quadratic equations
afe fgura wdteTor & et &1 9 1§ 3T gent
& UEEA -20 g1 fguma wfreror Jma wirfeu)

a) x2-x-20=0)(b) x2+x+20=0

(c) x*+x-20=0(d) x*-x+20=0
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‘X.q-' (ot ﬁ)l +ofp=0 8. Which of the following quadratic equation
has roots -3 and -5.
3 «-(-8)x+15=0 = o | Tt fgama wdietor & 9@ -3 aon

(a) x*-8x+15=0

(b) x*-8x-15=0

\syx*+8x+15=0

(d) x*+8x-15=0
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' J |
ot f | <P 9. Ifaq,p are roots of the equations x> -5x+ 6

= 0 then find the quadratic equation whose

L-5x+6z=0 | 6% —=5%x+|=0
roots are l, l

a P
Hﬁ{aaﬁTﬁmx’-Sx+6=0%W%,

(b) 6x*+5x+1=0
(c) 6x*-5x-1=0
(d) 6x*+5x-1=0
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«x-«+t1=0 10. If a and p are the roots of equation x*- x +

.__ I __(___ = 1 =0, then which equation will have roots
Q o® and f3°

.:-g- 4 = Uﬁuaﬁgﬁmxa-X+l=O#§W§,

. at fguma wdteror fawer ga1 o 30T B2 2l

¢ &5 (=<"+[?)x+(°<[5)1=- o {8y x*+2x+1=0

2\ 2 (b) x*-2x +1=0
) - 4 120 (c) X2 +3x +1=0

Q?% (d) x*-3x+1=0
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-3 42 =0 11. If a and B are the roots of the equation
- "-(El = _'Q::?’_)' =3 x?-3x+ 2 =0, then the quadratic equation
whose roots ar (a + 1) and (B + 1) is.
"‘S-'-'--*.Z""z A o 387 p THiEOT 2 -3x + 2=0F T &, A

fgama wdietor foweT gat (o + 1) 307 (B + 1)

x% (*Yumosmmx-tprmu%w:o \(_a)/:vx2 -Sx+6=0(b) x*+5x-6=0
- L 2 -— 2 _ _ -
)‘)‘X_ ;(GGHB"")'K-{- (w“)(Fﬂ):o (c) X2+ 35x+6=0(d) x2-5x-6=0
) 4.

o N u\'ﬁhh‘} *ﬁ*io(-}[gﬂ_

.-) -)( - S‘K“_ UO

<) y? 2134120
hSXTG:o
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D) -
-3 +2=0 11. If a and P are the roots of the equation

ans  (x-1)-3(x-1)$2=0 x2 - 3x + 2 = 0, then the quadratic equation
whose roots ar (a + 1) and (B + 1) is.

- qfg o 3T P EHEOT x2-3x +2=0F gA &,
D A sx46z0 fguma wdrertor fawesT 9&1 (o + 1) 30T (B + 1) 2

| L +1-7%-3%+342< 0

(c) x2+5x+6=0(d) x2-5x-6=0
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OHF =8 “f ;u 12. aand B are the roots of quadratic equation.
Ifa+pB=8anda-p=2V5, then which of
the of the following equation will have roots

> o a' and B*'?

:@ :-_ o 79T B fgurda gdfeTr & ga 21 afE a + B =

—— s 8 AUT a - B =2V5 %, @ o 791 p* F=fafaa o
o (4p P =0 R Fm i g E2

S e [ N S, (a)%2 - 1522x + 14641 = 0

9 J‘[Eﬂ)‘?“ﬂ‘%’[‘%* '{'(dF)L‘:O\('}:)/x’ +1921x + 14641 = 0

- ((6y _ gy

:\ . (‘{ QX")"?(“)I_}»L 46y |-, (d) x* + 2520x + 14641 =0
A~ (HD)... =0

C) T- qu))‘ TR

l
3) ')(‘2_ | GL'%?"{?) X ‘f“{ﬁ"{ <o
St 41ugy (< 0

(c) x2 - 1764x + 14641 = O
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EEEE‘-‘ P&:);D 13. When (x*-3x° + 2x? - Sx + 7) is divided by
(x - 2), the remainder is -
£ = xY- 3P+ 28-sx+7 W (-3 +2x2 -5x+T7) W (x-2) ¥
£(2) = QY-3RP+20)%s(x)+7 (AT foan S &, @ .o YU W Eir 2
& | E (a) 3 (b)Y -3
872418 —10+7) (c) 2 \ﬁ:/o

i



A +Ux +4=0 e

?
= A+ 2x+2x+Y= 0 i
3 A(x-2) -3(x-2)=0

S Ax+2) +2(x+2)=0 -) —
F 042) (at2)=0
A-2 =0

[
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pur (3"‘”_)_ 20 14. When f(x) = 15x° - 14x? - 4x + 10 is divided
5 2= by (3x + 2), then the remainder is:
- W9 f(x) = 15x° - 14x%2 - 4x + 10 &l (3x + 2)
_z B 7 fawrfaa fear STt &, & e AR
5 () 4(3)-4(-3 )+ g
c YT &raT1 &1
= 18 (-8) _ Y(4) +.8 4 SSC CHSL 27/05/2022 (Shift- 2)
L"/‘M q 3 (a) - 1 (b) 1
- = 0 "
T S tay g (c) -2 \(dr2
< T 9
e
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2+3=0 15. If 5x° + 5x2 — 6x + 9 is divided by@,
2) x=-3 the remainder is :

afg 5x° + 5x2 - 6x + 9 &t (x + 3) ® fawfaa
faar Srar € a1 Ut 9w 2

. (a) 135 (b) 63
. 5('9")+S(q)..6(_3) +q (o) -135 \(yzsa
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ok 16. If x® + 2x® - ax- b is exactly divisible by (x?

"') L ‘1 %= / =1), then the values of a and b are :
_§(|): 1%+ 2x()% a-h =0 qig 32+ 2x% - ax - b, (x* - 1)}3 l{U'f'd: IEL UG
2 +2-a-h=0 &1 SATAT & A a 99T b T WA ATA HTAUN

2) CHSL 2019 21/10/2020 (Shift- 02)
(a) a=-1and b= 2

) (P¥2Fa)-bro  (b) a- 1andbe-2
S L \(9)/a=1andb=2
:)) t2 +a-b=0o (d) a=2and b =2
Q-9
| (
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= 16. If x® + 2x® - ax- b is exactly divisible by (x?

--3 ¢ - —1 2 A= / =1), then the values of a and b are :
| afT x* + 2x% - ax- b, (x? - 1) ® quia: faurfem
+2-0a-b =0 g1 STAT &1 A a 99T b T WA FATd Hi(AUT

<) CHSL 2019 21/10/2020 (Shift- 02)
(a) a=-1and b= 2
(b)a=1and b=-2

sYa=1and b =2

(d) a=2and b= 2



MATHS COURSE (For all govt. exams )

R
(8'){-(6: -0

we oPh

BY ADITYA RANJAN SIR

17. If px’ + x* + 3x + q is exactly divisible by
(x +2)and (x- 2), then the values of p and

q are:
afg px®+ x2+3x+q, (x+2) 37T (x-2) ¥
guia: faarss & &t p 30T q & WA £

SSC CHSL 08/06/2022 (Shift- 03)
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18. Let fix) = xX* - 6x* + 11x - 6, then which
one of the following is not a factor of fix) ?

Ifg fix) = x*-6x2+11x-6 ¢, At A a A
HIA-AT f(x) & MUHEE &l 87

(ay(x-1)=0  (b) (x-2)

(¢) (x+ 3) (d) (x-3)
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19. If (x + 2) and (x - 3) are the factors of
x>+ kx + Kk, ) then:

@3“[”2:9 DI (x+2)3fl’((x—3), x=+klx+k2€;1y]ﬁ[
g, q:

Q4 3K +K,=0

SSC CHSL 09/06/2022 (Shift- 02)

(a) k, =land k, =-6
\U'k =-land k,=-6
(c) k, =-1land k, = 6
(d) k. =1landk, =6
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a’+ 2ab+ b*
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P+ é— (P_"' @ @ 20. For what value(s) of k will the expression
*+ 2ab + b*

Q'x{ﬁxb

1
pt 6\5 + k* be a perfect square ?

K & fe&w um/fes ot & fou saw=

p+%\ffi+k2 U YUl a1 gim?

Qs SSC CHSL 10/06/2022 (Shift- 02)
@%b..\l




